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98 Biology Paper I Marking Scheme Marks ’/,/\
a) (i) F....
(ii) * invertebrates .................
(iii)
A | C
has mammary glands no mammary glands )
no scales has slimy scales ) any two ....
no lateral line has lateral line )
breathes by lungs breathes by gills

(accept other reasonable answers)

(iv) A has a higher body temperature than C ................ccoovviiiiiieeeieeaan v,
This enables A to achieve a higher metabolicrate .................ccovvevieeiviniiiiranraneen.
Thus A needs more food for respiration to release more €nergy ........coeeuvvvvevenvennnnn
to compensate for the faster heat loss to the surrounding ...........ccccocvviviiiinenennn.n.

[ Effective communication (C) 1 l

w) Prohibit the overhunting of F )
Prohibit the trading of F )
Protect breeding grounds of F ) ANY WO oo .1
Establish a reserve area to protect F )
Educate people to protect the animals )
(accept other reasonable answers)

Total : 10 + 7 marks
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98 Biology Paper 1 Marking Scheme Marks

i) () i 1 X ) T PSPPSR Y
Correct choice 0f aXes (A) o.oviniiiiiiiineiiiiiiirrtainreecarrirnrnsenerneaens ..
Correct labelling of axes with units (L) c....ovevenviiveiiniiiiiiiiiiiiinnennes Y, Y4
Correct plotting and joining of points (P) ..........c.oooiiiiiiiiiiiiiiii Y, Y
Labelling of graphs (B) .....c.ocoviiriiiniiiiniiiciii et e, Y, A

The change in levels of sucrose solution and
104- elucose solution in set-up A and set-up B with time
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(ii) The level of SUCTOSE SOIULION TOSE «.vnenruraeuinienrninieariianiecanuiriiiiaeracarasosastaseas 1
because the water potential of the sucrose solution was lower than that of
GASHIIEA WALET +n.eoeeeeevneirrernssenernerresessrniannesustuesecanseaaassissrannesansoscssasners 1
Thus water entered the dialysis tUbINE ......eeuiermiiiiiiii st e 1
(iii) The rate of increase of solution level in set-up A was greater than that in set-up B ...ii%
Since glucose could diffuse out of the dialysis tubing in set-up B while sucrose
could not diffuse out iN SEL-UP A .......cierrruniermieiiiianriiariis et eeessenees 1
the difference in water potentials across the dialysis tubing in set-up A was greater
.1

than that in SE-UP B ....cceeiiiiiiimimmemreiieiririiar e
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Total : 10 marks
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1.(c)

Q)

(i)

(iii)
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Individuals 1 and 2 have diabetes, therefore each of them must possess at
least one ailele for this type of diabetes ..............oooiiviii PUVORONS |
Their children (individuals 3 and 4) are normal, that means at least
one of the parents must also possess one allele for the normal character ...
At least one of the parents is heterozygous ...............ooooiiiiiiiiiiiennees
In a heterozygous condition, only the dominant allele is expresscd ............
Thus the allele for this type of diabetes is dominant ................ccoevenienee

Effective communication (C) 1 J

D = allele for this type of diabetes )
d = allele for the normal character ) I

restrict carbohydrate/glucose intake ........
injection of insulin .......c...occoeiiiinniens

Total : 10 + I marks

l Kignygsu-C6 M.
Chen Kwasy
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98 Biology Paper | Marking Scheme Marks

(i) The capillary network has a large total cross-sectional area .............................
so reduces the rate of blood flow/more time is allowed for the exchange of substances 1

The numerous branches provide a large surfacearea ............................___

for rapid exchange of substances between the blood and the tissue cells .................
(ii) The pressure of fluid A near the arterial end is higher than that of fluid B .................. 1
Some of the plasma except large proteins/some of the blood except large proteins,
red blood cells and platelets ........................ooooeemnniii !
are forced through the thin wall of the blood capillary/P to form fluid B ................... 1
l Effective communication (C) v
1

I Effective communication (C)
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(ii) Light-sensitive cells on the retina were stimulated
Nerve impulses were setup ...........................
and transmitted along the optic nerve ...............

to the cerebral cortex for internretation inte vicinn

LEﬁective communication (C)

\-iildly muscies would contract ..........eeee.
Suspensory ligaments would slacken .........
Lens would become more convex .............

(iv) Convex lens
Lens of the eye
Nearby object (diverging rays)

N N N N N Nt Nt

Converging rays any 6
Arrow sign
Image on retina
Titl
B 1/—/L/:
Path of light rays from a nearby object after correction
Total
4(b) (@) As the trees are cut, the soil is exposed/there is no tree roots to hold the soil firmly ......
so that the soil can be easily eroded by rainfall and wind ...................ooooooiioooii. .
(ii) ) As food for humans or animals ................ceevumneneeerennseeseee i,
To provide seeds for growing new plants .........................................
@) There are symbiotic nitrogen-fixing bacteria in the root nodules of
leguminous plants ...........oooiiriiiniiiiiii e e,
The bacteria convert atmospheric nitrogen to nitrogenous compounds
(ammonium i0n/amino aCids) ................cocovueerivrireisie e
Some of these is taken up by the plant for growth/protein synthesis .......... -

When the leaves and roots decompose, nitrogenous compounds are
released to the soil, thus increase the soil fertility ...............ooooooeee

: 11 + I marks

l Effective communication (C)

depletion of specific minerals inthe s0il ...............co. eeenieicinieiirenanes,
spread/increase in the population of specific Pest ........  viccoeeenrrveierrenees e

4(c) @ ) Solution A is necessary for the breakdown of the egg white ................e.....

2) Hydrochloric acid and solution A are required for the breakdown

oftheegg White ... i e
OR Hydrochloric acid is also required for the breakdown of the egg white ..........

(ii) Prepare another tube which is identicaltotube I ..........oieiiriiiieniiiiie e,
except solution A hasbeenboiled ............ocoiiiiiiiiiiiii e
There would be no breakdown of the egg white inthistube .......c.coevvvieeiveieranennnnn..

(iii) (1) ¥ BASHNIC JUICE ..ottt en e ere e e s ea e aen
2) to kill bacteria which enter the alimentary canal ...........covveveieinineirenennnen

(iv) The solution will turn violet in colour ..................... D
because solution A contains an enzyme which is a protein .......occovvveiiiiiiiaiinnnnnn...
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Total : 9 marks




